
Solución 

Práctico 13: Oscilaciones 

 

Ejercicio 1 

a. 𝑇 = 0.484 s 
b. 𝑓 = 2.066 Hz 
c. 𝜔 = 12.98 rad/s 
d. 𝑘 = 86.29 N/m 
e. 𝑣 = 4.505 m/s 
f. 𝐹máx = 29.94 N 

g. 𝑎𝑥 +
𝑘

𝑚
𝑥 = 0 

h. 𝑥(𝑡) = 34.7cos (12.98𝑡) 

 

Ejercicio 2 

a. 𝑥(1.90 s) = 3.27 m 
b. 𝑣𝑥(1.90 s) = −43.4 m/s 
c. 𝑎𝑥(1.90 s) = −229 m/𝑠2 
d. 𝑓 = 1.33 Hz 
e. 𝑇 = 0.75 s 

 

Ejercicio 3 

𝐴0 =
𝜇𝑠𝑔(𝑀 + 𝑚)

𝑘
 

 

Ejercicio 5 

𝑇 = 4.47 s 

 

Ejercicio 6 

𝑇 = 0.72 s 

 

Ejercicio 7 

a. 𝐴0 =
𝑚𝑣

√(𝑀+𝑚)𝑘
 

b. 
𝐸𝐷

𝐸𝐴
=

𝑚

𝑀+𝑚
 

c. 𝑧(𝑡) = 𝐴0 sen(𝜔𝑡), con 𝐴0 calculado en a. y 𝜔 = √𝑘/(𝑀 + 𝑚) 

 

Ejercicio 8 

a. 𝐸𝐶,𝑇 = 5.6 J 
b. 𝐸𝐶,𝑅 = 2.8 J 



 

Ejercicio 9 

a. 𝐼𝑜 = 0.219 kg. m2 
b. 𝑑 = 0.496 m 
c. 𝑇 = 1.53 s 


